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THREE YEAR B.Com.(General/Advertising Sales Promotion and Sales Management/
Computer Application/Taxation and Tax Procedure/Computer
Applications and Business Analytics) DEGREE EXAMINATION,
MAY -2022

CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
PART - II

Paper - 1: 1A : FUNDAMENTALS OF ACCOUNTING
(Under CBCS New Regulation w.e.f. the academic year 2020-21)
Time : 3 Hours ' Max. Marks : 75

SECTION-A
dgriio - @
Answer any Five of the following questions. Each question carries equal marks.(5%5=25)
Bod L?_é-b;le)és DR D B SErgrdinen (@ranim. E.Sa RED drtpen S8,
1. What are the branches of Accounting?
otodHoh S Tped ADA?

2.  Prepare Sravan account

_ Rs.

1-1-2021  Amount due from Sravan , 2100
7-1-2021  Sold goodto Sravan 2500

10-1-2021 Goods returned to Sravan 2540

13-1-2021 Purchased goods from Sravan 5200

15-1-2021 Goods returned by Mohan 5700
20-1-2021 Cashpaidto Sravan 5800

21-1-2021 Cashreceived from Sravan 5700

2-1-101-R20 1) [PT.O.]
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[E°S86 @t) sraed S Sabod.

1.1.2021  [oo&6 ol T Jwdo
7.1.2021 (5958 Bbhen ofrgd

10.1.2021 {HBHHew EP&SL"E& 80N Homyon
13.1.2021 |58 0D Hen ey B8l
15.1.2021 IS BBAMNS SQHen

20.1.2021 ta%":ﬁé KD BQorH

21.1.2021 @‘5’3&5 o) SKB ododod

3. Whatare the different types of subsidiary books?
QDY Bsro DY HJsTen DNHE?

4.  Write opening entry on 1st January 2016

Cash in Hand Rs. 8,000, Cash at Bank Rs. 18,000, Stock Rs. 5,000, Account ReceivableRs
6,000, Building Rs. 8,00,000, Investment Rs. 42,000; Furniture Rs. 50,000. Account
Payable 80,000, Loan A/c Rs. 1,20,000. : :

1 2538 2016 § [0 ao@:o [PCD08.

3BE° B &e. 8,000,
&r. 6,000, £550 &». 8,00,000, uJé.)Ja)& &, 42,000,
groren 80,000, 6°5 A/c &w. 1,20, 000.

5.  Rectify the following errors.

a)
b)
c)
d)

Purchase book undercast by 280,
Sales books undercast by 250.
Rent paid 450 was posted as 580.

Furniture sold worth 850 credited to sales account,

(Bod e ROBLOA,

2) 280 858 558° HioRy Ssoiben Bahod,

b) 250 8 35k 1 Didere Dciren. |

) 450 3PoDS &G 580 e 27 Sodhadon.

d) 850 Denss Jd 98158 VYO gPEEE axgy dadados,
2-1-101-R20 (2)

2100
2500
2540
5200
5700
5800
5700

g0t S8 SKith G, 18 000, %DE &r. 5,000, grae .\Béaom
q)BDYSS &r. 50,000. BYosHe
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What are the need of Bank Reconciliation Statement?

508 S '&ésa)oés 5080 dH?

- Ascertain bank balance as per cash book.

a.  Bankbalance as per pass book 5800.

b.  Cheques issued but not presented for payment 450.

c.  Cheques deposited but not credited in pass book 352.

d.  Bank charge debited only in pass book 12.

SHED Yo [Hs°0 ar08 ergBHYD AEdosol.

a.  ore =8 5800 (K580 ergo8 ersBy),

b. Sy enb Baverzon sH BO0H S0 KHOOIHLEE 450.

c. ard 8 352 &° Byen EraS Boharran =D wH SedoEBH.

d .20 28 12 &° SrEDd eyl 7§ 3OS Savalos.
Pass necessary adjustment entries to the following.
Closing stock 12,000

Outstanding expenses 1400

Prepaid expenses 150

Interest accured 540

Bobd &8 @é@@a’: Baren $STrHoH T Sabod.
SwACY 2355 12000

&é pien 1400

l@)?om)E pen 150

S8 540

2-1-101-R20 . _ 3)
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Answer one question from each unit each questio
58 DS oD a8 B Hredn Eraiy. (58 BHS

9. a)  Whatare the different concepts and conventions of

SECTION-B
dgrilo - O

n carries equal marks. (5“0:50)
553%3&@ ESNERNWY

accounting?

oSPoBol awd) JPY) Pden HOAD 'réot.fnmvdﬁﬁen DE?

b) Journalize the following transactions.

1-1-2021
3-1-2021
4-1-2021.
6-1-2021
10-1-2021
14-1-2021
18-1-2021
23-1-2021
28-1-2021
31-1-2021

(OR/Bwe)
Ram Started a business withcash Rs. 10,090
- Sold goods 0 Rajesh for cash Rs. 5,000
Cash sales ‘ | Rs.15,000
Purchased furniture from Ravi on credit Rs. 1,800
Sold furniture for cash : Rs.8,000
Cash deposited in to bank Rs. 7,000
Purchased goods from Akbar o Rs.2,500
Paid to Sravan Rs. 2,000
Received from Sushil Rs.8.500
Withdrawn from bank for personal use Rs.5,000

Bod erardded Dep Bepen (FPchod.
Q

1.1.2021
3.1.2021
4.1.2021
6.1.2021
10.1.2021

114.1.2021
18.1.2021 -

2-1-101-R20

o &, 10,000 K58 xR0 Brofomid

;s;ﬁess §%0 TERS S0HoH Jgawomrd &=, 5000

QM edysren &r. 16000

o) DR 8D Hod HESE Someo 851800

K> 50 HBYSE Deworth 67,8000

ROHE® SKD i Bshodosd | &.7000

0%)6 $00 ShHew Sonh | 8. 2500
4)
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28.1.2021 [ ¥56 % BPowrth
28.1.2021 H4S ol xBboT
31.1.2021 KR esairrio B%0 wiol ol HEE? Sctholiod &r.5000

10. a) Enterthe following transactions in suitable subsidiary book

January

29

[Bod erarided ShS wdaod HKEst STt Sabod.

Purchased goods from Raj

Sold goods to Rehman for cash
Returned goods by kumar

Purchased goods from Madhu on credit
Solds goods to Mukesh

Paid to Anil

Sold goods to Venkat for cash
Returned goods to Mohan

Keshav returns goods

225508

1
5
8
/f
12
15
18
25
29

2-1-101-R20 -

oo 509 é@@m EoRen BB
s51% %0 BKJ%S%J SHed &)@cmomtfa
BB trgor ShHen SON Hmom

';'.3 Sgh o) BhhHen Eaod

etA) g%o Dot SHet Haomty
T8 Gt HOA AT
BES Hten HOA BId.

(OR/&tr)

06

&
&,

5200
2500
520
524
852
741
7425
2547
2545

.2000

8500

5200
2500
520
524
852
741
7425
2547
2545

[P.T.O]
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b)  Enter the following transactions in three column cash book

January

1 Cash balance

1 Bank balance

8  Cashsales

9 Received cheque from Laxmi
Discount allowed

10 Paidinto bank

12 Paidto Srinivas
Discount received

18 Paid to ramesh
Discount allowed

19 Deposit in to bank

21 Withdrawn from bank for personﬁl use

31  Withdrawn from bank for office use

40,000
16,000
2500

5200

25
1000
2800

250
8500

24
9800
7500
1200

2D Dendh Bide S HBos® Bod erardded S Sabod.

22320358

1 S Dex

1 ool ol

8  Gnth eimren

9 of) Hod By 2o HTIND
orand ©dhHBosnlol

10 o0%d® Bhoorth

12 4255 Boorth
LMol drobob

18 &H5H Bowrd

orand DHBoSHR0H

2-1-101-R20 | (6)

40000
16000
25600
5200
25
1000
2800
2560
85600
24

(%3 CamScanner


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

19 enpse® Bdvads Sabod
21 438 add@rro 80 @yl ol D& Saholod
31 soygodd abd@rro 5%0 axo Hob DS Behadod

9,800
7,500
1200

11. a) The following trial balance was prepared by a clerk appointed newly by Rao
& Conrpany. Some errors were found in the Trial Balance due to lack of experience in
preparing accounts. Prepare Trial Balance by Rectifying these mistakes.

SI. No.
1

O 00 N9 N b B WM

M;—a—-—n’—ta—-:—iv-n'b—lr—-‘u—-
S WV X 9 WM AW N = o

2-1-101-R20

Particulars
Opening Stock
Capital

Discount allowed
Discount received
Fixed Assets
Sales

Purchases
Purchase returns
Sales Returns
Carriage inwards
Carriage outwards
Wages, Salaries

Bills receivable

- Debtors .

Bills Payable
Rent

Interest paid
Cash
Creditors

Closing Stock

™

Debit Rs.
2500

Credit Rs.
67,000
250

350

2,500
2400

600
700

5850

5800

85450

|

[P.T.O.]
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{0 04 & 50—&').5
JHeBod. grared B
SEdren BB SaEman.

SI No,

10
11
12
13
14
15
16
17
18
19
- 20

2-1-101-R20

w

Particulars
L aoh 5235
ool

orand 0 BoS0800

&8 Trobod
R expen
SEVISEY

SOSTE

Soifen ooad
) B85y

GHO8 sﬂééeé
2088 TS
Saren, doven
%éepécsha’: &epen
amralf_ﬂ'@m

Benen BDOSBABD
3

56 BOo)

S5

DNBTEG e

‘cﬁfa”&oﬁﬂgg

oo Ede QabDosedd 5, Toe Bob

Debit Rs.

2500

oS DR ki,
o Schtos® whesho DENPHKo Ho [oahd mnsag; g‘&{
& Set K00%ko T (uhE @B o Tahod,

Credit Rs.

-

67,000
250
350

2500

2400

600
700

5850

2800

8565450

(%1 CamScanner
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b)  Rectify the following errors by using Journal Entries and prepare Suspense account.

An amount of 600 for the repair of furniture was debited to furniture account,

Goods bought from a merchant amounting to 55 had been posted to the credit of
his account as 550.

A dishonored bill receivable for 400 returned by the bank had been credited to
bank account and debited to bills receivable account.

Sales day book was overcast by 400.
General expenses 28 were posted in the ledger

Pass journal entries to rectify the above mistakes and prepared the suspense
Account,

250 abSTrRoiio moe (Bod S°Fed K6BK0A.
Dofen HBAN FYF) e Bigo Bowod.

$R)S6 Sisys S50 600 Ido $OSE ras TS Bcdadod.

28 T3ErD Ho& 55 8% FHfen BRS SHenr wsd grars® 550 e a

Scﬁamczgon.

400 80A BRoiSHORRS BEYBOSES Dey ag0E grard EAS Bobalod HBA
Depen AxBOOSBAS grard TS BhHdod.

28) & a8 400 DESre Eriééo 2dhod.
Ferdee oy 28 &33’3%‘965 Y 5&0&::3;033.

2 S FOBLEERS DIp HEHOH [PAHod DB VTPHDH e Mo Bahod.

12. a) Prepare' Bank Reconciliation Statement as on 31¢ December, 2012 from following

particulars.
i)  Balance as per pass book 20000 overdraft.
ii) Interest on investment collected by bank 500.
iii) Bank has paid 300 towards insurance premium and was not entered in cash book.
iv) Cheques received entered in cash book but not sent to bank for collection 500.
v) A wrong debit of400 is appearing in pass book.

2-1-101-R20 ©) - [PT.0.]
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& Bob e Hob 31 &Rowb, 2012 B 8BS wgol Dege BT BEI Mg,

i) &8 w8 20000 &a’)SLm‘g Pseo argBR).

ii) w08 500 $EO0DS Degedp 54,

i) ol Hisoe BXvabo %0 300 BYoDod BB $KE B $Teid Bawdks,
iv) oo Bé&cn S Hod® ¥ Buharron 50 500 DB 7o aryos

Dot
v) D wB& 400 Sy TS K100,
(OR/8)

b)  On 31-3-2019 the cash book of ramesh showed a credit balancc 0f7200 from the
following prepare bank Reconciliation Statement.

i)  Interest debited by the bank 225 is not appearing in cash book.

1i)  Interest on investment collected by the t;ank 1200.

iii) A chequesof750 issued to Srinivas was cashed on 10-4-20009.

iv) A credit of 90 relating to some others account was found in the pass book.

v)  Out of cheques deposited in the bank for collection on 25 march a cheque for
750 was collected after 31 March 2009.

31.3.2009 & DR $1eH Hfo 7200 BAS RPHD KrH0008.

i) @p508 225 oxoe S THalds $& K™ HRiEes® E3Boso S,
ii) 2508 HE00DS Digudp B4 1200, |

i) &R B ad)s 750 Byen 10.4.2009 $ $Krw Srgymupan,

iv) | R w88 HOE0ED grarenH Sowofod 90 e wonSey 180T

v) &r8) 25 oaééea 8%0 ergots® Brals Bu Bpe® 750 Bkyko 31 £r8)
2009 SoxE DEBOTE.

2 D070 ol @rgo Dexe HHdudh HED SarHBDR.

2-1-101-R20 | - (10)
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13. a) The following is the Trial Balance of P. Laxmj and company on 31-3-2021

Ps.articulars Debit Rs. Credit Rs.

Cash in hand 2500

Cash at Bank 2450

Purchases | 25,000

Sales . 1,00,000

Sales Return | 680

Purchase Return 900

Fuel and Power 2,500 |

Carriage on Sales 3,500

Carriage on Purchases 1,250

Opening stock 12,548

Buildings 1,250

Freehold Land 7,852

Machinery 2,854

Patents 4,520

Salaries 2,540

General Expenses 7,896

Insurance 3,698

Drawings 25,470 .

Sundry -Debtors 25,420

Sundry Creditors _ 30,000

Closing Stock 1028
131928 131928

Prepare the Trading and Profit and Loss Account and Balance Sheet as on
31-3-2021. The Stock on 31-3-2021 is Rs. 10,000.

2-1-101-R20 (1 [P.T.O.]
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(8009 31.3.2021 & D.of} HOH LoD JowoBod:S (adS DY)

Ddren Debit Rs. - Credit Rs.

386° S5 . 2500

o8 SK5H 2450

SRR 25,000

olyseen 1,00,000

OXNSPO THDeD 680

SHRfen ardKoen: 900

205550 Hda 48 ‘ 2500

oo Baree 3500

FoRen Saree - 1250

(R0t B 12548

FSTeen 1250

& 7852 '

ahoEren 2854

>Boty 4520

daren 2540

PSR PEYED 7896

AR 3698

RPod Toseen 25,470

D LoeaffSipen 25,420

. aweatrSen 30,000

§%20R Y8 1028

131928 131928

31.8.2021 88 BESR HB8atn €74 o graw HBAD 2B WS Bigo Faso!
The Stock on 31-3-2021 &». 10000.

(OR/Sar)

2-1-101-R20 12)
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b) From the Following trial balance of M/s Kaushal Traders, Prepare Trading and
Profit and Loss Account for the year ended 31* March 2012.

Particular Amount  Particular Amount
Cash 2500  Sales 25,000
Wages 5200  Bill payable 2000
Purchase 1000  Creditors 12,000
Returns 1450 Discount 420
.Building 2470  Commission received 16,500
Land 25,000  Capital 50,000
Furniture 7800  Returns 500
Opening stock 4800
Factory ex'penses 1200
Coal and gas 8700
Salaries 7400
Good will 1250
Rent 8500
Debtors 8540
Bill receivable 7400
Géneral expenses 1230
Insurance 7460
Commission 4520

06420 106420

Adjustments :
i)  Closing stock 25000
ii) Depreciation on land 5%.
iii) Depreciation on furniture 15%.
iv) Prepaid insurance 120.
v) Outstanding salaries 500.
- vi) Outstanding wages 120.

2-1-101-R20 ' (13) [P.T.O.]
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M/sBES

03 deew

B atat)

Sdren

R en

OISO TPBDED
BSTeen

&ben

DB)S6

Fr8ogs) 6B
F3E0 wipen
&1 $B0D
daven

1EDS

3

oes{iie

Den ErBBOSERSE
Ferbes Phyen
A

S

2-1-101-R20

Bod (058 ergdR) o8, 31 0B 2012 8° SRS S0,
@&oﬁ HoBakn ems :n a$o $ape q:wwxn ago Bahol.

Amount
2600
5200
1000
1450
2470

25,000

7800

aéa'm
es)EeD

Dep BRoTD
200EITIEBED
&0

KIS eotH%Hod

Soretddo

BRen aeddven

4800

1200
8700
7400
12560
8500
8540
7400
1230
7460

4520

106420

- (14)

Amount
25,000
2000
12,000
420
16,500
50,000

500

106420
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Adjustments :

2-1-101-R20

§°20R E 25,000,
DD 5B 5%, °
PO)SED Erreser 15%.
BRoE i 120,
BYOBBORS daren 500,

BQoSBE0NN SSaeen 120,

(15)
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THREE YEAR B.Com. (General/Advertising Sales Promotion and Sales
Management/Computer Application/Taxation and Tax Procedure).
DEGREE EXAMINATION, MAY -2022
CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
PART - 11
PAPER : I - 1B : BUSINESS ORGANISATION AND MANAGEMENT

(Under CBCS New Regulation w.e.f. the academic year 2020-21)
Time : 3 Hours Max. Marks : 75

SECTION-A
Jgetio =
Answer any five of the following questions. Each question carries 5 marks. (5%5=25)
& [Bob T8 DB 0t [SHES VTSV [Tk, (58 [HE b Srtye.
1. Commerce.
SPERRy0.
2. Multi National Company (M.N.C.).
DFOEr8 JoY. _
3. Statement in lieu of prospectus.
@"?oggﬁa Drenr (SELN.
4. Levels of Management.
. e ;35033&.
5. Line and Staff Organisation.
BS Bk Jeod [oY.
6. Types of Partners.

wﬁﬁsﬁno Bseen.
7. Define Management.
DEreaid Dol
8. Limitations of planning.
@w‘@é HB .
2-1-102-R20 - (D) ‘ " [PT.0]
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SECTION - B
dgrio - 0

Answer All the questions. Each question carries Equal marks. (5%10=50)

R BHED Mirgre (abod. [0 B Srien $rE.

9. a)

b)

10. a)

b)

11. a)

b)

12, a)

Unit - [
Explain the objectives of Business.
TRV ) oFEed BB,
(OR/Ger) i
Define Industry. Explain about the different types of Industries.
BOEDD MgDoSod. NS Bsvo sokfe KB DSBoBl.
Unit - 11
Explain the differences between sole proprietorship and partnership firm.
D85 cHaEeR Hrdahn gRHRog "c’éoig gy SgErR) DSboBod.
(OR/Ber)
Define Joint stock company. Explain its fegtures‘?
adnd FE LodA IDoS0d. wd oo DSBoSoR.
Unit - III
What is Memorandum of Assc')ciation? Explain its clauses.
DIPTP0L0 OFVADHS ol IDA? TP JwoBdeH DSBOSOR.
(OR/8er)
What is prospectus? Explain the contents of prospectus?
RS ©oBl HMB? YR @Bl DRAreH DSB0S0A.
| Unit - 1V
Define Managcmc_nl. Explain its signiﬁcancc/importance.
NPl DgDobol, @%"mm&/{_&&’mqﬁéz& QB00HE0A,
(OR/8cr)

2-1-102-R20 S @)
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b)

a)

b)

Explain 14 principles of Managcmem.
BEPes o) 1.'4 JrErod DdBoBok.
Unit -V
Explain the various functions of management?
DSOS o) Aerrod 1HB0D DHBoBs?
(OR/Ber)

Explain the advantages and disadvantages of line and staff organisation?

BS S8k PH SYIBGS k) abGrrren HOADH HOMWHOD HBoD DBIBoBOE?



https://digital-camscanner.onelink.me/P3GL/g26ffx3k

(Total No. of Pages : 2 2-1-103-R20

THREE YEAR B.Com. (General) DEGREE EXAMINATION, MAY-2022
- CHOICE BASED CREDIT SYSTEM
FIRST SEMESTER
PART - 11

Paper - I : 1C : BUSINESS ENVIRONMENT
(Under CBCS New Reguiatinn w.e.f. the academic year 2020-21)

Time : 3 Hours Max. Marks : 75
SECTION-A
Qg SN -a
Answer any FIVE of the following questions. (5%5=25)
& 8ok BEeS® I o Phed S (Fabod.
1. Micro Business Environment.
B Tgr8 TE°NBee0
2.  Tertiary Sector.
ée)écjﬁa Boko
3. Fiscal Policy
@gé AP0
4, Demonetization
EIPQBELS
S. . IBRD
- 0desb
6.  Political Stability
oo {5E0
7. Social Environment
FEPRE TTHBE0
8.  Ecological Environment
el el PEeNBE0
2-1-103-R20 @ [P.T.O
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10.

11.

12,

13.

Answer All questions from the following.

SECTION-B

S0~
ol (5x10=50

& (Bod o) HHeH Brgrarey (@dbol.

a)

b).

b)

b)

b)

b)

Unit -1
Define Business Environment. Explain the nature and scope of Business I_Enwronjnem_
TyDE SR ADoBol? TG evstno Eng) Ko WO L4
A lalotnlola¥s
(OR/Bow) _ |
What factors are generally important to understand the micro environment of a
business organization?
TP B0 Gy K SogeseR) esfo BEHHTOE FTFBea0TT D ©0Ten SoRENSD.
Unit - I |
Explain the different types of Economic Planning?
DAL Bz @85 (HerPEodh DHBoSl?
' (OR/Bwe)
What is NITI Aayog? Explain its objectives Administration and Functions.
NITI &&rh @08 dDH? oo OFe, Do HOBAM DHedH DHBoBos?
Unit - I1I
Describe about New Industrial Policy.
eSS PBITPDE Ao 180D DBB0S0-?
(OR/8w)
What are the measures adopted by the Reserve Bank to control credit?
BESD JaHo@oSeeRE Baty @508 @S e DE?
Unit -1V
What is GST? Explain its Advantages and Disadvantages.
208 okl HDB? T [HRraTODH HO BPHArETORH DSBSR?
‘ (OR/Sow)
Explain the arguments in favour of and against social Responsibility?
FEPRE rEEH odEroornr $HB5N BsHTLore oD DSBoS0A?
Unit-V
Explain in detail about BRICS.
08 B0 DHBore DHBoBSCR?
(OR/8o)
Explain the functions and role of WTO.
WTO &¥) Dipen 5H8ckn @ D5BoBos?

2-1-103-R20 | _ @)
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[Total No. of Pages 2 2-2-102-R20

THREE YEAR B.Com.(Gcneral/Cofnputer Application/Advertising
Sales Promotion & Sales Management/Taxation and Tax Procedure)

DEGREE EXAMINATION, DECEMBER - 2021
CHOICE BASED CREDIT SYSTEM
SECOND SEMESTER

PART-II -
PAPER - 2B : Business Economics
(Under CBCS New Regulation w.c.f. the academic year 2020-21)

Time : 3 Hours Max. Marks : 75

SECTION - A
. - grhdo - D ‘
Answer any FIVE of'the following questions. Each question carries Equal marks.(5%5=25)
0B BHHoS® Z wth [BH SErEeSo BS508. (B8 (H¥) HErS Srdpo EOA
GOoLOoR. . -

1.  Write the meaning and definition of Business Economics?
TIPS eBTFo Gl ®o HOA AKSSo (Fabod.

2. Law of Demand.
8308 Kr(go.

3. Average Variable Costs.
JNéD SBAD Oa.

4. Classifications of Markets.
STy $EEGe.

5. Components of National Income.
BT aH0S°R eozeey.

6 Demand.Curve.
B%r0E To.

7. Characteristics of perfect market.
50 PSS oD,

- 8. National Income méasllliﬂg methods.
PHATTEEHo oD .;cQSé)w.

2-2-102-R20 @ [P.T.O.
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SECTION-B
egreisso - &

Answer any ONE question from each unit. All questions carries Equal mar k;é:—: cig:m)
B8 oD 008 a8 (DS HTrto BKol. (5O BHES BT ety ;

' UNIT -1 _
9. a) Explain the nature and scope of Business Economics.
THPE eBTHo Gng, Erdo $HBA HOHI DBBOHE.

(OR/Se) .
-b)  Write the differences in between micro and macro Economics.
‘n'1)°§& B _E(n‘;e) @{QSEDL@@ a’)acﬁé Bbrod oeahol.

UNIT - 1I
10. a) What are the exceptions of law of demand?
&350k Kr(Eedd SpSssBanoen DD?
| (OR/Bt»)
b)  Write the different types of elasticity of demand.
D Bzre 58 Bkirol st Sexwi Tradod.

UNIT - III
11. a) Explain about the law of variable proportions.
S aPEre SrEeR) DHB0.
| o - (OR/Bwr)
b) Explain the Break even Analysis.
@5 &3S 9Fhes D DBBOHEw.

. UNIT - IV
12. a) Equilibrium Price in Perfect Market.
oy 8 ;.’1306&@‘; B8 Jsoeexo.
~ - (OR/Sv)
b)  Equilibrium in Monopoly Market.
EFg08° $58 KB exs0.

| UNIT -V
-13. a) - Write about the concepts of National Income,
. eP8SSHrTRaho @8 PSS TPainGm,
N (ORcr)
b) Explain the problems of measuring national Income.
PHOTPTPOIRR) wosae Saheros® DGy Woigen HO?

2-2-102-R20 - o
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[Total No. of Pages : 8 : 2-2-101-R20
mo./007070
THREE YEAR B.Com. (General / Computer Application / Advertising Sales

Promotion & Sales Management / Taxation and Tax Procedure)
DEGREE EXAMINATION, DECEMBER - 2021

CHOICE BASED CREDIT SYSTEM
SECOND SEMESTER
PART - 11
PAPER - 2A - Financial Accounting

(Under CBCS New Regulation w.e.f the Academic Year 2020-21)
Time : 3 Hours Max. Marks : 75

SECTION-A
. z)@ﬁ;’:n - @ :
Answer any FIVE of the following, ; (5x5=25)

1.  Causes of Depreciation.
SHIDBOSH Ko seeen.
2.  Straight Line Method.
E R0 5.

3. Provision V/s Reser_ve.

dovky Vs Bastn

4. Average Clause.
ol

2-2-101-R20 ; ) ‘ [P.T.O.
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5. 'l.Del-crede.rg:_ Commission. o -
S Brob BNS.
6. Joint Bank Account,
éﬁ)&& 2505 FrEe.
7. Features of Joint Venture..
adnd a5 eFeren.
8. -Valuatiop of Closing Stock in Consignment.

ESpSB0LSE St S Denss dov ET?

SECTION-B
Dgerdn - &
Answer ONE quesiion_ _fré_r_n t‘fgph unit. Each question carries 10 mz_i_rks. | (5%10=50
UNIT -1
9., a) Deﬁﬁe Depreciation. Explain different mgthods of Depreciation.
SHHBD ©IFRD?. DN Erbo HHeH Beod.

(OR/8or)

2-2-101-R20 2
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b)  On1*JanA Company Purchased Second hand Machinery for Rs. 25,000 and spent for
repairs & installation expenses Rs. 2,000 & Rs. 3,000 respectively. Company following
Diminishing balance method of depreciation @ 10% p.a. Company sold machinery
after two years on 1% Sept for Rs. 20,000. Prepare Machinery A/c and Depreciation

Alc.

2550 135 28 502D 2.8 3 dbolgR) &r. 25000 5D T8 Hisiydhen SO
RRE BEHIe G, 2000 B &r. 3000 i) B2k6.LoDd b rovmre 8D
10% SGpS Storbed 885008, o2d Bod HosHTre SowE 1% Sept $ &r.
20,000 &SR8, abolo gramh Db ShibEe ravb Sat Sabod.

oNIT-1IL
10. a) From the following Prepare
- i)  BadDebts Account
ii)  Provision for Bad Debts Account
iii) P&LA/c.

April 1#2020 Provision for Bad Debts Rs. 2,000.

March 31st 2021 Bad Debts Rs. 1,930.
Debtors Rs. 25,000. Make Provision for Bad Debts at 5% on Debtors.

(Bob DSore HHod i) T arde gree ii) ool a:s°§0§ oD grE° iii) o°g a‘:%o q:mo;ﬁ:
Bfeviertnlontiolal

2020 April 1 o-Rer8e8 St 67,2000
2021 March 31 o-derfen &r.1930
aves(figen &r. 25000

ooQerdes emesipeD 5% DD

2-2-101-R20 ® ~ [PTO.
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(OR/Sce)

b). A firm desires to debit Profit & Loss Account with a ur!iform ﬁgure every year in
respect of repairs & renewals. It expects that considering the life of the asset in
question Rs. 10,000 will be the average amount to be spent per year. Actlfal Repa.lrs
are Rs. 2,000 in the first year, Rs. 3,000 in the second year and Rs. 4,000 in the third
year. Show Provision for Repairs & Renewals Account.

2.8 Bo2h (HB Koo HiyKkes &8 IreR) BT o TS Db S0

DnoDSE. Eond) (9B BoBdHBo KO0 &r. 10,000 H85Hes Huz)tn DehedIs.

D T ot BoSHTOE® SR &e. 2000, &e. 3000, & 4000 Sr(ED p)
" BT $B5nHeB oo PEd S Schod.

UNIT - III

11. a) A fire occurred on 15" December 2020 in the premises of D Co. Ltd. From the
following figures, Calculate the amount of claim to be lodged with the insurance
company for loss of Stock.

Stock at Cost on 1* April 2019 Rs. 2,00,000
Stock at Cost on 1% April 2021 Rs. 3,00,000
Purchases for the year ended 31 March 2020 Rs. 4,00,000
Purchases from 1% April 2020 to 15 Dec 2020 Rs. 8,80,000
Sales for the Year ended 31 March 2020 Rs. 6,00,000
Sales from 1* April 2020 to 15" December 2020 Rs. 10,50,000

During the accounting year 2020-2021, cost of purchases rose by 10% above the
previous year’s levels while selling prices went up by 5%. The value of Stock Salvaged
was Rs. 20,000.

D Co. Ltd.6* 15% December 2020 oy [S5r80 $05D008. Bod Jkre K08
Lo B85S 3 Defoe SawSid> 88008,

1#DS 2019 & 5% R &8 &».2,00,000

2-2-101-R20 ' @
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[4DRS 2021 § Ko = &6 &e. 3,00,000

81-578) 2020 $8% Sty &r. 4,00,000 -

1-906 20 Hod 16 EnceB 2020 565 S orPi) i 8,80,000‘
.Sl—a’qu) 2020 $6% @553&‘3“@ 6. 6,00,000

1-9S 20 Ho& 15 &o6 2020 56!%3 edysten &r. 10,50,000

2020-2021 ©@oFoBoR HoSEI, K8 HosdBo Lol hRten B8 10% B8
DA eoRso §B 5% BS 2BACA. D% é:é:& Dend &, 20,000.

(OR/Bw»)

b) Fire occurred in the premises of X Ltd. on 10 Jan 2021. All Stocks were destroyed
except to the extent of Rs. 62,000. From the following figures, ascertain the loss

suffered by the company.

Stock on 1% April 2019 Rs. 3,60,000 =
Net Purchases during 2019-2020 ' Rs. 13,50,000 "
Net Sales during 2019-2020 Rs. 20,00,000

Stock on 31 March 2020 . Rs. 2,25,000

Net Purchases Since 1% April 2020upto the date of fire Rs. 14,60,000

Sales upto the date of Fire ) Rs. 18,90,000

10 25558 20215 X Lid. es5886°, of) [S5r80 $085d0058. &r. 62,000 $5H%
D woze HHH s*DRPa0B. (Bod BT Hod eff) [HErso Sg ‘ooaS&)oé

é%:g' B8oiol.

14D 20198 St &, 3,60,000

- 2-2-101-R20 ®) ‘ [P.T.O.
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2019—_20;20 B §@#ﬁ@ &r. 13,50,000

12019-2020 QS ©FYPe» &=, 20,00,000

31-578)20208 $E&S &, 2,25,000

1*O®S 2020 H0d eff) Hirdo 86 566 58 Sfes 6. 14,60,000

1S 2020 B0 off BSrso B S8 VLS elyser 6.18,90,000
UNIT -1V

12. a) Rani Mills Ltd of Hyderabad sent 100 pieces shirting to fancy stores, Lucknow on
consignment basis. The consignee are entitled 5% commission plus expenses. The
cost of Rani Mills Ltd. is Rs. 600 per piece. Fancy Stores, Lucknow lay the following

- expenses Railway Freight etc Rs. 1,000, Godown Rent and Insurance Rs. 1,500.

Rani Mills Ltd. draw on the consignee a draft for Rs. 30,000 which is duly accepted.
It is discounted for Rs. 28,650. Later fancy stores, Lucknow report that the entire
consignment has been sold for Rs. 78,000. Show Journal entries & important ledger’
accounts in the books of consignor. | N R

o D) FEers 100 5753 o o8)5% YY) Ay L5805 Hoart.
ES208 5% EDGS 8arin ptyen Erme BYoSSBH.od ) 2.5%% &) b
&, 600 &) Bod. @"56‘\?\) 0) 0§§W6} Bod gtnen B, B (32> &, 1000,
R ©g 5Hdak e &e. 1500. .

£520 oo ) B 30000 Dey (D eIrto owd. WY &r. 28,650 &
ERmots Beth. B&a x5 ) 05 T Bno S B, 78,000 % eFed
@ BOFG. ESPTE YITOS” Npter HOEN EoRS wSTres S0k,

(OR/Sw)

2-2-101-R20 | (6)
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13.

b)

a)

1000 toys consigned by R & Co. of Kolkata to T & Co. of Rangoon at an invoice cost
of Rs. 150 each. R & Co. Paid freight Rs. 10,000 and insurance Rs. 1,500. During the
voyage 100 toys were totally damaged by fire & to be thrown over board. T & Co.
took delivery of remaining toys and paid Rs. 14,400 as customs duty. T & Co. senta
bank draft to R & Co. for Rs. 50,000 as advance payment and later sent an account

.sales showing 800 toys had been sold at Rs. 220 each. Expenses incurred by T & Co. _

on godown rent & advertisement etc amounted to Rs. 2,000. T & Co. was entitled

- acommission of 5%, Prepare Consignment A/c, Consignee A/c in the books of

R & Co.

«8 & Co. §so§é§3 1000 5";‘»&02&) &é&é&é HIRODR 8% B, 150 &55pd T & Co.
BorirS8 ESRSHos D Hoaks. R & Co. BPoDS Savee e, 10,000 080k i
8. 1500. Sareses® 100 Sdgen Frore 2o diran. T & Co. DO S
6°.14,400 oo BPod EwdHHB. T & Co. &r. 50,000 ewypy™ R & Co. 8
DOBIE. HoxE 800 &Fyen e.5WHB &. 220_5"";%:6 o8, T & Co. AEoA o3 &

(8850 [Bo &r. 2000 BodTD. T & Co. 5% &5 BDozd. R & Co. Hsred’

ESROD0ES grae, S50 grae Scird Bodod.

UNIT-V

A & B were par;nérs in a joint venture sharing profits & losses in the ratio of 4:1. A
supplies goods to the value of Rs. 50,000 and incurres expenses to Rs. 5,400. B supplies

- goods to the value of Rs. 14,000 and paid expenses Rs. 800. B sells goods on behalf

of Joint venture and realises Rs. 92,000.B entitled a commission of 5% on sales. B
settles his account by bank draft. Give Journal entries in the books of A and open Joint
venture A/cBA/c. :

A & B griideorr aind TgTR) (@SodoTes. ergfdipod 4:1 DK)8&*
H0HEI8OTH. A 50,000 3HBHD Hod Er. 5400 a,)IS.DeJ}éJ BOoT. B.14,000
S B0 &r. 800 pyeid BPomrd. B adyl mrto SHHS Wb 6.
92,000 o eimo. B & oSO8 SDES 5% . B o (g0 Sod g
HBHBODETAD. A Hsres’ DEPHen @0, adnd TS gre° Hoan B gro
SrHod. :

| (OR/Bcv)
\-} ‘\01
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b) Arunand Varun cntercd into adoint venture to purchase and sell second hand cars.
‘ Arun purchased for cash 50 cars at an average price of Rs. 70,000 ‘during the year
2019-2020. Varun during the same period reconditioning the cars by spending the

following amounts.

Spare parts used Rs. 1,80,000 painting Rs. 2,00,000, Air conditioning of 5 cars Rs.
3,00,000 & remaining expenses Rs. 80,000. Arun and Varun sold cars as follows.

“Arun 2 Ac cars each Rs. 3,50,000 and Non-Ac cars 18 @ Rs. 2,50,000 each Varun 1
Ac cars Rs. 2,20,000 and 5 Non Ac cars @ Rs. 2,10,000 each.

Prepare Joint Venture A/c in the books of Arun & Varun.

S5 6% S5HE S =D T TS 3 3R Gl Sgrdo 3d53zsa:5:o
oo, 2019-2020 HosEBes’ et 50 S5 2558 5. 70,000 S5y
SR 30D Fad. SHE é:nrsv o8 BFHoS: 5D B T Bod pnen
B&oa"tfo D&errren &e. 1,80,000 DHonoBoh &r. 2, 00 000, 5 508 dowd BoddiS
&, 3,00,000 8% RO Bty Gv.80,000 i 2 Acsth 25958 6.3,50,000
THPS HBA TR AV 5 18 =2 2,858 6. 2,50,000 r‘S"an)D‘n’) XD, SBS 18
Acsgg 28558 &r.2,20,000 %605 b S M 5 eEYPEHS G, 2,10,000 FHpS
@éﬁé&) [ @269’0655 aﬁ)&& a‘;sii‘*tﬁ T zﬁra)o&

22-101-R20 . - ®
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THREE YEAR B.Com. (General/Computer Application/Taxation and

Tax Procedure) DEGREE EXAMINATION, MAY-2022
CHOICE BASED CREDIT SYSTEM
THIRD SEMESTER
PART - 11
PAPER - 3B - Business Statistics
(Under CBCS New Regulanon w.e.f. the academic year 2021-2022)

Time : 3 Hours ~ Max. Marks : 75
SECTION - A
Dgrridn -

Answer any Five of the following questions. (5x5=25)

& 8od 3 0t BéHos Sdreraren ooabod.

1. a)’

b)

2

h)

Explam bneﬂy about importance of statistics.

KesPosee @"a’m%é DHBoEod. _

Calculate the Harmonic Mean for the data given below
2,14,36,120,150 and 180.

BIHS Sepoddn Hol HESEEHEND Botol.

2,14,36,120,150 £dcsn 180.

Calculate Mean deviation and its coefficient from Arithmetic mean.
7,5,12,10,8,11,16.

[ken Do a’aaadﬁw OBNHS Dt ol el He¥o B80S0l
7,6,12,10,8,11,16.

Explain the Positive and Negative Correlatlon with suitable examples
odHEre HOAH HEEFY KEFHoRoTR NN STFERo8® D580508.
Types of Index numbers.

$eD8 Dogge Bseen DHBoSol.

Difference between Diagrams and Graphs.

Ogr DLwen 508350 EPq) © g K5E5K0 DHBoSOA.

Scatter diagram.

b Berdo D008,

Mean = 35.4, Median = 34.3 find the mode?
Jnen = 36.4, Hgkridsn = 34.3 IrED EHPSo’?

2-3-101-R20 S 1 | [P.T.O.]
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SECT

ION -

Dgrtisin - &
Answer all the questions, Each question carries equal marks.
& [Bod R BHeb Birgre Edbol. BO B Srtye B

75550,

(5%10=50)

UNIT -1
2. How isaHistogram different from a Bar Diagram? Prepare a Histogram for the following
data. :
Sales 0-10 | 10-20 [ 20-30 [ 30-40 | 40-50 50-60
No.of Co.s. | 7 32 | 56 49 42 14
B Qo K0l SRYTD der Hhore otnod? Bob Ber B0 TR bigotanod,
DETw. 0-10 [ 10-20 [ 20-30 [ 30-40 | 40-50 | 50-60
5.0 Doy, 7 32 56 49 42 14
(OR/Ber)
3. Distinguish between One dimensional and Two dimensional diagrams and represent the
following data related to the monthly expenditure of a family through a Pie - Diagram.
Item Food Clothing | Rent Education | Others
Monthly Expenditure _
inRs. 4,800 | 4,000 7,200 3,600 2,400
One dimensional &58d% Two dimensional 3gr Dioe ot B 98008 HBSH B -
Bgr D@;o ooe Bénomo ) S8 %008 -ooaao&oazé L&o& E.sé.ﬂﬁz nﬁvﬂo:ﬁo&
©0¥0 @*o0 | e TR DD aden | -
Sz oo Gr. 4,800 | 4,000 7,200 | 3,600 | 2,400
- UNIT -II '
4.  Calculate Median from the following data.
Marks, 0-10 10-20 | 20-30 | 30-40 | 40-50 50-60 | 60-70
No. of Students. | 6 10 20 25 16 12 5
Eob tmrodim ol 53{5:3;&21 B8oiod.
a‘m&:&en 0-10 | 10-20 | 20-30[ 30-40 [ 40-50 [ 50-60 60-70
9%(80 "n:roag 6 10 20 25 16 12 5
(OR/8or)
5. Calculate Modal Weight from the following data,
WLt in Lbs 100-110{110-120] 120-130{ 130-140 [140-150 [150-160]160-170/170-180
No. of persons, | 4 6 2 R 33 17 8 2 '
8od Bgrodsim ol Modal Weight B8oisob,
Wt. Lbs &° 100-110]110-120]120-130] 130-140 [140-150 [150-160]160-170 170-180
S0 Sogy 4 6 20 32 33 17 8 2
2-3-101-R20 (2)


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

UNIT -11I

From the following information Calculate Quartiles.

Marks Below | Below | Below | Below | Below | Below| Below | Below
10 20 30 40 X ) 70 &0
No.of workers | 4 10 24 S0 0 85 9% 100
8od Jriro Hod ﬁé‘i)?go-a'&’m@é) (Quartiles) 880508, '
SPB)ED. Below | Below | Below| Below | Below | Below | Below | Below
‘ 0 |20 [0 |4 50 0 | %0
ooygko vogg |4 |10 | # [N | 8 |95 | 100
(OR/Bew)

7. Inastudy about viral fever, the number of people affected in a town were noted as.
Age in years -1 0-10 |'10-20 | 20-30 30-40 | 40-50 | 50-60 [ 60-70
No. of People affected | 3 5 16 18 12 7 A
Find its standard deviation.

S BB KHBoDS 28 ogchBos’, a8 ?.’:}%eaoess W8S Ko Yoggd aer HoTH.

H0.68° Schid) 0-10 | 1020 20-30 3040 | 40-50 | 5060 | 60-70
[Rerd8DY e Dogg | 3 5 16 18 " 12 7 4
o°R @mt%é Qo (standard devnatlon) EiPHod.
UNIT -1V
8. Calculate the Karl Pearson’s Coefficient of Correlation for the following data.
KT 16 ] 8 4| 3 2 1
Y |18 [ 16 14 12 10 6 8
808 Bt §%0 (Karl Pearson’s) {&riomots KomsQ) 880508,
X I 6. 3. 4 3 2 1
Y |18 16 14 12 10 6 8
' _ (OR/See)
9, From the ranks of 10 students in Accountancy and Statistics given below.
Calculate Rank Correlation Coefficient and comment on the value.
Ranks in Accountancy : | 1 2 3 4 | 5 6 7 8 9 10
Ranks in Statistics : 1 3 5 6 7 4 | 8 10] 991 21.
80b BRPBSEEoBR) SO M@%@‘ 10 5508 dargthe T30e Dol oo BFHonoy
oeedo (Rank Correlation) Bég,oa’)o& B Densd D afga:ggaoéo&..
woBn)S” Toden [ 1 2 |3 4|56 ]7]8 19710
Kerosrod® Toen : 1 |3 |56 |7|4]|8]10l9 ]2
2-3-101-R20 3) [PT.O.]
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N . . i thc
10. From the following data construct a Price Index Number by using

i.  Laspeyre's method and
1. Paasche's method

UNIT-V

Base Year Current Year '
Commodity | price Expenditure | Price Expenditure
(Rs.) (Rs.) (Rs.) (Rs.)
A 2 40 5 75
8 4 16 g 40
L l 10 2 74
2 5 25 10 60

BoB T&H ADBrN0D 58 JeDs RBogdy Errodoiiod.

L eahb BB8 (Laspeyre’s method) Srasw
ii. b DL (l’;nschc s method)

11.  Compute Fishers ideal index and show that it satisfies time reversal test and factor
reversal test. -

B0 VoS0 [PrS R0DS)O0
559 &8 &) Foho @r.) | BBEr) | 35opo(Er.)
A 2 40 5 75
B 4 16 8 40
G 1 10 2 24
D 5 25 . 10 60
(OR/Br) :

Base Year Current Year
Commodity Price Quantity Price Quantity
(Rs.) (Rs.)
A 4 40 5 50
B 8 64 9 80
C 10 70 10 70
D 12 10 4 16

(Fisher’s)$&05) @) SrdED (i
B5 6:56)5 50 555 8565

ideal indcx) ool KB =B (time reversal)
83 Kol HDHoLD DFBoPoR.

sErd HodHiso B8 Hosdyso :
S5 5 (Gw,) DOBTR0 N5 (e, DOm0
A 4 40 5 50
B 8 64 9 80
C 10 70 10 70
D 12 10 4 16
2-3-101-R20 4)
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No. of P :
S 1-3-101-R20

THREE YEAR B.A./B.Com. (General/Computer Application/Taxation and
Tax Procedure) DEGREE EXAMINATION MAY-2022
CHOICE BASED CREDIT SYSTEM
THIRD SEMESTER
PART - II ACCOUNTANCY

PAPER - 3A : ADVANCED ACCOUNTING '
(Um!er CBCS New Regulation w.e. J. the academic year 2021-22)

Time:3 Hours ' ~ ‘Max. Marks : 75
SECTION-A
dgriiso - @

Answer any FIVE of'the following questions. : (5%5=25)

B8 BT ath [HHeH SErrrESssven (@EPahod.
1. a) Self Balancing System.
) axBYeR VPD.
b) Double Entry System.
KenS ol 2.

c) Features of non profit organization.
PP DE B Ko G e,

d) Partnership deed.

' Codatep vy 6&3&}’

e) Insolvency.

&arer _ _

f)  XandY are partners. They have obtained loan from the State Bank of India of 50,000
@8% p.a. and Y had advanced 7,20,000 to the firm as loan @7% p.a. Calculate interest
on Bank Loan and Y’s Loan when:

a)  There is partnership deed

b) ~ There is no partnership v:ie:adj

X H8cm Y grridegiven. 50 000'@@5@5 &9 BB 09 &0 BPo @ OS%pa
Bk Y Do 7,20, 000 Beso @7% p.a.

EPSOE &S éaedfm Y’s 6°5 S8 ) BBo0d.
D) erridgy Sxer aob.
D) griRegy SREDer
1-3-101-R20 (1) : T
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. 8) Ram, Shyam and Mohan were partners sharing profits in the equal ratio. They haye

decided t0 share the profits in the ratio of 5:3:2 with retrospective effect. Calcylate
the Sacrifice of Gain of the partners.

oo, TS HOBw  IedeS B KA rproin HoHBHI PrrFgEvey,

R’)gonoﬁ)éa&d:.
2@5"@% EE® 5:3:2 086" ergrod BoDEHTRS, TR BHPSOR. TPKIne
K T°0. '
h)  Preparation of receipt and payment account.
85 0800 BDoD srEe Gk Sdted.
SECTION-B
griiso - O
Answer All the questions. Each question carries equal marks. (5%10=50)
O BHeS Jhrerssver afod. (©d HEHD Setinen D,
. UNIT -1
2.  Please prepare the Debtors and Creditors Ledger control account for the following:
Balances:
Debtors (1/1/10) 1,50,000
Creditors (1/1/10) 45,000
Baddebt 2,200
Discount Received 2,500 _ .
Cash Received from debtors 1,15,000 Cheque Receipt from debtors 5,000
Set off 1,200 o ’
Discount Allowed 1,150
~ Credit Sales 25,000
Credit Purchases 12,000 |
~ Cash paymen:t of Creditors 18,000
* Cheque payment to Creditors 11,200 Understand Credit Sales 1,500
Overstated Cash Receipt from Debtors 2,000
Return Inward 1,300
Return Outward 1,600 '
Overstated Cheque payment to creditors 1,000

1-3-101-R20 . . (2)
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SR mmiirger 0ut enmtrie BEE dbon T %50 Basol.
(Bod:
R e: _
awealfies (1/1/10) 1,50,000
&werdes (1/1/10) 45,000
Swodl esron 2,200
2,500 o ©fodod.
2o Dol AxEBoSnlod 1,15,000 asconmrthe $Hod Bé:@ &h% 5,000
1,200 eSS
1,150 $fo emm8osnlod.
BAS esysres 25,000
© B&S THR° 12,000
BRSO $KD 3QoH 18,000
armEeS BP0 S0P Bekol 11,200 &y BAS wiyen 1,500
2,000 axefie Kol IS S8 S
&°508 88A 1,300 |
2cH®S 88A 1,600
Seoordes 1,000 B 3909
' - (OR/Ber).

M/s Big Systematic Ltd. maintains self - balancing ledgers preparing control accounts at
the end of calender month. On 31* January, 2013 the accountant of the company located the
following errors in the books of account.

i)  Anamount of Rs.8,700 reccived from customer Mehra was credited to Mehta, another
customer.

ii) Thc sales book for December, 2012 undercast by Rs. 1000.

iii) Goods invoiced at Rs. 15,600 were returned to supplier, M/s Mega Ltd. but no entry
was made in the books for this return made on 28th December ,2012.

Pass the necessary Journal Entries to rectify the above mentioned errors.

1-3-101-R20 | ) I [P.T.0.]
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M/s Big Systematic Ltd, 85805 3o 5566 Dol e o B -5

BEBo% DEFG0B.31% 2558, 20135 ZoDd 0Bt FE° :)sues‘ 808 &deod
r{af:‘soamia

i) & é«ga’:ﬁ DS 08 otHw) 8,700 HE ms D ad L“kﬁaa&.o&
ii) &oxb, 2012 :)L_écﬁm B0 &r.1000.

iif) S vy’ &r.15,600 IO, M/s BrrdDBES 80h sdptran, S0
@3‘3'0 8%

28 2008 20125 & 885) 50 Hsres® Saird chalod. I BB S e
KOBKPRBOSIERS S ao@ea’n >R Bahol.
UNIT-1I

4. Mr. Arnav does not keep proper records of his business he provided following information.
You are required to prepare a statement showing the profit or loss of the year.

Items : _ (Rs.)

Capital at the beginning of the year 15,00,000
Bills receivable 60,000
CashinHand 80,000
Furniture : 9,00,000
Building 1,00,000

- Creditors ' 6,00,000
Stock in trade * 2,00,000
Further capital introduced 3,20,000
Drawings made during the period 80,000

Prepare Statement of affairs at the end of the year and calculate of Profit and Loss.

&bnﬁ 0%)S & (808 JEPTPTR) ©oB0DT® 83 a‘gaﬂcﬂé’oé J02050DS ¥BD Bsefod
BoHETBD. St HodBo ergo Bae ST o REDo5H o 3@&)
15,00,000 Sod&Bo [Erogios” reiso

60,000. ToeO)S Depen

38 35 | 80,000

$8y56 | 9,00,000 .

5580 ' : 1,00,000

e | 6,00,000

B0 E 2,00,000

SHDHB SrersSo ©3,20,000 % B350800.

80,000 sPe08® TS ([Trowohen

BosB)Bo DLBE® FSsFore YD Mo Vabod HHBakn o Sapod ag&o;{,oa
(OR/ES::P)

1-3-101-R20 (@)
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Gopal does not keep proper records in thé books of account. Following information is
given below,

Items Jan 12005 Dec 31. 2005
Cashin hand 18,000 12,000
Cash at Bank 1,500 2,000
Stock in trade 80,000 90,000
Sundry Debtors ) 36,000 60,000.
Sundry Creditors 60,000 ' 40,000
Loan 10,000 8,000
Office equipments 25,000 | 30,000
Land and Buildings 30,000 20,000
Furniture - .10,000 10,000

.During the year he introduced Rs. 20,000 and withdraw Rs. 12,000 from the busmess Prepare
the statement of Profit or Loss on the basis of given information.

S groe G Do’ 358 65°t$aen ito B, (Bod Beardo (8o aigdod.

5530"36‘-' Jan 1 ; Dec 31,
: 2005 2005
3sst s 18,000 12,000
ToHE” S 1,500 - 2,000
THFBoS® FE 80,000 90,000
DG awealispen 36,000 160,000
Boll BaLG) . 60,000 . 40,000
2060 ; 10,000 ' 8,000
Sogedh HBETen . 25,000 30,000
gD HBAE gHaren 30,000 20,000
$6y:56 | . 10,000 10,000

dBE® 6.20,000 (B3 2 aRsardo fod &r. 12,000 DSz BBHT. aa&:) mzso
egrbore eego (Bo°) Kipo (HEGSH o Babod.

UNIT -1II

From the following information, calculate the amount of subscrlptlons to be credited to the
income and expenditure account for the year 2007-08.

Subscriptions received during the year e 50,000
‘Subscriptions outstanding on 31* March, 2007 : 20,000
. " Subscriptions outstanding on 31* March, 2008 6,000
Subscriptions received in advance on 31* March, 2007 8,000

Subscriptions received in advance on 31* March, 2008
Subscriptions of Rs. 1,500 are still in arrears for the year 2006-07. 9,000

1-3-101-R20 - (5) | - [PT.O.]
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(8o im0 508, 2007-08 HoSEorRE ETeab O H5oh Fre= = TadSeRy
Segone o) 880508, _ |

RoBE)Bo6" EBoBRES ek 50,000
31 &e8y, 20078 Somren esPon GIOD. 20,000

31 aﬂr%, 20088 Sotren axsPon GINOD. 6,000

31 S8y, 20075 Swotsihre $xEBoDS BakEgen 8,000

31 &78), 20085 Hwotsiyre xEBoDY HSRYKSen

5.2006-07 HoSSTV8 Howodod 1,500 s3BE emna». 9,000

| (OR/So) | '

Distinguish between Income and expenditure account and receipt and payment account.

emrabo SO Sab e HBa Shih DB 3o FrEe Wi e 1HBool.

UNIT -1V )
P . Q and R were partners in a firm sharing profits in the ratio of 1:2:2. After division of
profits for the year ended 31.3.2001 their capitals were: P 1,50,000: Q1,80,000; and
R 2,10,000. During the year they withdrew 20,000 each for personal use. The profit of the
year was 7,60,000. The partnership deed provided that interest on capital will be allowed @
10% p.a. While preparing the final accounts, interests on partners capital was not allowed.
Pass the necessary.
You are required to calculate the capital of P. Q and R as on 1st April, 2000 and adjustment
entry for providing interest on capital. Show your workings clearly.
P, Q &850 R 1:2:2 05)88° orgreid HoH% KoHs® griidegiiven 31.3.2001 & BoARS
RoBSoeB ergre ks doxg ad sreieen P1,50,000: Q1,80,000: $8c R 2,10,000:
BodEBos® 8 LBrE add@rro 850 *20.000 TGS eddosrBoBHHT. Vob)so
e=go 7,60,000. grringg SPRes” SreiHop 3& @10% p.a.odh8osntodod.
g:g ool do TRYD, FHIgEive SrerBod 58 eHBOLHEED. ©SHEDS
B o S :

1t 1 &S, 2000 B8 P, Q 50ckw R &) SR BEHoTd bk Srelsop

HED woBOSERS Kty St Dawrd. D SV Kfore Srhood.
(OR/Br) '

X and Y were partners in a firm sharing profits in the ratio of 3:2 . On 31.3.2012 their
Balance Sheet was as follows: :

Liabilities . -~ AmountRs.  Assets Amount Rs.
Sundry Creditors 50,000  Landand Building 1,00,000
Bills Payable ' 20,000 . Machinery < 80,000
Outstanding expenses 10,000  Stock 1,00,000
Xs Capital - 1,80,000  Debtors 40,000
Y’s Capital - 70,000 Cash 10’000

__2____._.---"'

1-3-101-R20- | (6)
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10.

1-3-101-R20 )

On the above data Z was admitted as a new partner in the firm for 1/4 share in the profits on
the following terms:; .

i)  Zwillbring 1,20,000 for his capital ahd 20,000 for his share as premium for goodwill.

i) Machinery was to be depreciated by 10% and Land and Building was to be appreciated
by Rs.30,000. :

iii)  Stock was overvalued by 20,000.

iv) A provision of 5% was to be created for doubtful debts.

V) , Salary outstanding was 5,000.

Prepare Revaluation A ccount, Partners Capital Accounts and Balance Sheet of the new firm.

X 5B Y 3:2 0p86° ergrets B0t Ko grkdngiven 31.8,2012 78 e85 &
Bod D%orr &od. - g

oeggSen 3wdo &r.  esen | Sndo &,
Sold BawG) | 50,000 25> Bk BdTren 1,00,000
BYoSHONY Deven ‘ 20,000 -cholgren _ . 80,000
‘a8 ptinen 10,000 3§ 1,00,000
X o) ey 180,000  aweslfoes - 40,000
Y o oaed 70,000 &KL | 10,000
' 3,30,000 ' 3,30,000

S DEYY) B6E® & (8od Mot ergrest 1/4 e 8550 Bopst &8 PRI
5@&- ) - Q -

) zesd Sroriso S50 1,20,000 Hba @8 e §%0 20,000 K&S o
©dnchore 85508,

i) D0 Dend 10% Shod HBA % HOAD S0 &°.30,000 DenFSB.

iii) 5 20,000 egSore ¢ob. | '

V) RoBEs awere EK0 5%USERon0d®H HRoTO.

v) &80 asran 5000 o
5°¢ 10 Ging) Brenahils gree, Friiryine Srerss sreves SO BT LS
R0 BaHod. |

, UNIT-V

Pass necessary Journal entries for the followihg transactions at the time of dissolution of

the firm. . : '

i) . Loanof55,00 advanced by a partner to the firm was refunded.

ii) =X, apartner takes over an unrecorded asset (Type writer) at 300. -

iii) Undistributed Balance (Debit) of P & L A/c 30,000 The firm has three partners X, Y
and Z. | |

iv) The assets of the firm realised 1,25,000

'v) Y how undertakes to carry out the dissolution proceeding is paid 2,000 for the same.

iv)  Creditors paid 28,000 in full settlement of their account of in 30,000,

[PT.O.]
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Qo B Bhahos® Bod erardde %0 wBIEHI a5 QO@@@ PR Dabod:
) RoPH K o) B0 56,000 anmo 86h Bosabod. -
‘o g e Hso DoHotrd
i) X, 28 g 300 5 SBSH B e} (B50L0) R0 '

iii)  P&L A/c 30,000 G ot Bubd engeS) @A) $oigd it griirglves X,
Y %60k Z sy,

iv)  Xog G eden 1,265,000

V) 5 @d80R 358 Y% 2,000 3QosnthEob.

vi) @& 30,000 & 6 grae G ASHOSE® 28,000 BRoTD.
S (OR/Bw)

11. A, B, and C were partners in a firm sharing profits in the ratio of 2:2:1. On 31st M.arc_h,
2010, their firm was dissolved. The balance sheet of the firm on the date of dissolution was
as follows: .
Liabilities Rs. - Assets v . Rs.
Sundry Creditors 40,000 Cah 30,000
Capital - g ~ Fixed Assets . 1,00,000
A 50,000 Debtors 30,000
B 40,000 ‘ -
C 30,000  1,20,000
1,60,0000 1,60,000
Present the final distribution after dissolution. :
A, B 8 C.2:2:1 986" ergrod S0 $ogs® grriegines. 31 6y, 20108,
0 %03 B Babadod. B BEE® HoP gy 25'36%) 265 Bod Digorr &od.
argsden - 8. e300 | &x.
dof @anE 40,000  HKH 30,000
TP | | | N wden 1,00,000
A 50,000 aoealfioen 30,000
B 40,000 | |
- C 30,000  1,20,000
1-3-101-R20 | ®
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THREE YEAR B.A. DEGREE EXAMINATION — OCTOBER/NOVEMBER 2020

Time : 3 hours

(b)

(c)

(d

(e)

®

(8)

(h)

CHOICE BASED CREDIT SYSTEM
FOURTH SEMESTER
Part I1 — Accounts

Paper I — ACCOUNTING FOR SERVICE ORGANIZATION

(Common to B.Com. (ASM), ( CA), (General), (Taxation)) -
(w.e.f. 2016-2017)

SECTION - A |

WES -

Max. Marks : 756

Answer any FIVE of the following. Each question carries 3 marks.

JDD D) 5%V SAFERINDy. (98 (HHO 3 530},
(Marks : § x 3 = 15) .

Features of Non-profit organisation.

P EBD Hoge oeTen.

Capital Income.
DTreRS esteoi oSN,

Reasonable Return.
N200BIPR |98J©0.

Double accounting system.
23080 ST DGTRSORITR?

Non-banking assets.

m;o?éd’ e50e0.

Rebate on bills discounted.

&a,000 325 Soobep 6Be.

Slip-systerﬁ.
583 Dprddw.

Reinsurance.

DPBydo.

[P.T.0


https://digital-camscanner.onelink.me/P3GL/g26ffx3k

ro

(i) Life insurance fund.
B8 Hdoe 0.

(G)  Average clause.

DorRb seer

Answer ONE quéstion from each Unit. Each question carries 1

SECTION - B
S - B

2 marks.

50 afareS 008 .8 [T SATrEEBORN. (98 (FH 12 S8y,

non-profit organisations?

(Marks : 5 x 12 = 60)

UNIT I _
What are the rules and regulations under. Sec.8 of Companies Act 2013 regarding

0200 830 2013, DS 8 (50 erEDD Sogen D20lHed, dpTEres 2360B0s.

Or

Prepare Income and Expenditure Account. _
Receipts and Payments Alc. of XYZ Club for the year ended 31-3-19.

Receipts
To Balance 7
Deposit 5,000
Current Alc. 2,400
Cash in hand - 300
To Donations
To Subscriptions
To Endowment Fund
To Legacies
To Interest on Investments
To Interest on Deposit

To Sale of news papers

k3

17,700
.8,000
7,000
15,000
3,000
9,500
150
100

50,450

Payments

By Donations

By Salaries

By Rent and Taxes
By Printing

By Postage

By Advertisement
By Furniture

By Insurance

By Investments
By Advance to Building
By Balance

— Deposit 8,000
— Current Nc.‘ 2,250
— Cash in hand 750

L3

Ed
14,500
2,600
1,200
300
100
250
750
750
14,000
5,000

11,000
50,450

1-4-101"
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erah SgoN0me FrEry BASrE ool

31-3-19 738" wotudhyg Hoseyo08 XYZ §6 $5ruy) ddoHe 7°o”

) . 3dospen z

To deg | | | By ¢Sozen 14,500

&5 5,000 By deren 2,600

£30¢5 groe 2,400 By e mao‘m.;sm&en 1,200

306° St 300 17,700 By oedof 300
To So°ome0 Pant ol g .3,000 By &¢2 1100
To Hotren o : 7'000 By pgwbw 250
To BarmrodH 1Y 15,000 By Z{)Bﬂ)iﬁd) 750
To T8ITgen 3,000 By @5 | | 750,
To Deyartoe P H& _ 9,500 By Deymiies | 14,000
To &3265 94 150 By sm08 eagdy) 5,000
To 8% 5|8¥ enyso 100 By ®og | |

| — Ba2S 8,000

_ Bosw gre 2,250

—DOS® DK 750 11,000

50,450 50,450

UNIT II

What are the uses and limitations of double account system.

2308 GTE° D0 Bk, PBTETOW, o Beyod.

Or

3 1-4-101
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From the following prepare Capital A/c., Revenue A/c., Net revenue A/c and Genéra]

Balance Sheet.

~ Particulars
Equity shares
Debentures
Sundry Creditors (Open)
Depreciation Fund

Capital expenditure as on 31.3.2018
Capital expenditure for the year 2018-19

Creditors for supply of current
Other Debtors

Stores in hand

Cash in hand

Electricity production expenses
Electricity distribution expenses
Rent, rate and taxes
Management expenses
Depreciation

Interim dividend

Interest on debentures

Sale of current

Meter rent

Net revenue (Balance on 1.4.18)

Debit T Credit ¥

1,64,700

60,000

300

75,000
2,92,000
24,800
12,000
150
1,600
1,600
9,000
1,500
- 1,600
3,600
6,000
6,000
3,000

39,000

15,000

. 8,550

3,62,550 3,62,550

808 DIT°0 B0k JCeEH e, BIXT ET, DY BOXITS o Bk Agetes &5 3o

56 Bt DaHod.
DT

611335 ToEIR0

ABoBH)

adeErden (8382 6X)d)

BHENHEO 2O

31.3.2018 a3 Sorrelsd Sgao

2018-19 S038)0°08 KarelsH 55060

- 9305 B KBokw §%50 avsmben

ABE aws|en

385 D) %‘5‘\) eg

\

GO T

2,92,000
24,800
12,000

150
1,500

B&eS T
1,64,700
60,000
300
75,000

1-4-101
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DT
DES® SN

DEFBY GBS PEen
D) HoDES HByew

- &, Bey DoBoiin Sayen
a3 23T, B
BB

B0 BoBotk

- &BoBY P 96

- 580w ©Ans0

et &R

- DEY BIXTy g Doy (1-4-18)

aoS T BaST
1,500
9,000
1,500
1,500
3,600
6,000
6,000
3,000

39,000

15,000

| 8,550

3,62,650 _3,62,550
UNITII

Write the proforma of profit and loss account and balance sheet of Banking Co. according

to Act.

e5080R 9830 (HS°80 ergotd FDrwe e By

Bill date
2018 January 2
2018 February 7
' 9018 February 27
2018 March 9

BoB 25T M0k &ir,065 DD DO P BB BE)0B0E.

Or .

From the following calculate Rebate on bills discounted.
On 31-3-2018 Discounted bills are as follows.

k3

* 18,250

36,500
54,750
20,000

31.-3-20 18 >°¢38 &x‘)vboeg DD Deyen.

G006 88
2018&26258 2
9018 D@98 7
2018 D6 27
2018 57°6) 9

T
18,250
36,500
54,750
20,000

Time (Months) Discount Rate

4
3
2
3

§eno (05)
4

3
2
3

16%
15%
12%
15%

G060 Bew
16%
15%
12%
15%

o g SBa 6 eype SP SSd.

1-4-101
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UNIT IV

What is the procedure to ascertain profit in insurance companies?

206 P TRBoS" ergfo DTBoBoRIK @Se0PoD SEA Beyosd.

From the following Trial Balance prepare final accounts of Insurance company.

Mortga-ges on Assets in India
Mértgage assets outside India
Loans on Lifé assurances
Loan on reversion's
Loan on policy surrender values |
Investments:
- Municipal securities -
—Foreign Govt. Securities -
Leasehold property
Reversions
Premiums outstanding |
Dividends, rent outstanding
Surrenders on foreign business
Surrenders on Inland business
Cashin hand =
Accepted claims outstanding
Claims on inland business
Claims on foreign business
Sundry creditors
Life Insurance fund opening balance
Management expenses
Premiums on Indian business

Premiums on foreign business

4
4,00,000

50,000

1,00,000
2,00,000
6,00,000

5,00,000
10,00,000
8,00,000
5,00,000
50,000
10,000
1,000
20,000

. 50,000

2,00,000
10,000

20,000

4

10,000

5,000

40,00,000

4,90,000
6,000

45,11,000

45,11,000

1-4-101
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(808 woter 1208 B8 By obb SRod Dy B> Saod.

e.)“ﬁi’sﬁéoé’s esdoen BHgren
grBHDE0 DAVIO 500 Bdgren
B8 &358 P wnETeD

B:)g&: 2 2VETRD

550e05°e) IS E Fonep w0ETed
P

— 5036 2ErgBeden
— 988 [HeHego ErgBdes

NAL s@@

o34

THOSD DAoL

oSOy GITOE), O

B8 rgDeSo P SiHense
ST e
38S°D DK

©0oR¥609, bgoém&:ﬁ go;aﬁa_w
13508 5508 gcooSoen

DB TR0 3 Sooe)
200ET° B0

S5 HIoe 9 @80 VOS
AydEd00en PED®
. qres TP 20050
203 ;7"3;‘7»;5066 REMSElE

T
4,00,000

50,000
1,00,000

~2,00,000

6,00,000

5,00,000
10,00,000
8,00,000
5,00,000
50,000
10,000
1,000
20,000
50,000

2,00,000
10,000

20,000

4

10,000

5,000
40,00,000

4,90,000

6,000

45,11,000

45,11,000

1-4-101
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UNITV

10. A fire occurred in the business premises of M/s. Bansal on 15th Sep. 2018. From the
following particulars ascertain the loss of stock and prepare a clalm for insurance.

T
Stock as on 1.1.2017 ' 60,000 '
Purchases from 1.1.2017 to 31.12.2017 1,42,000
Sales from 1.1.2017 to 31.12.2017 1,80,000
Stock as on 31.12.2017 27,000 .
Purchases from 1.1.2018 to 14.9.18 1,47,000
Sales from 1.1.2018 to 14.9.18 1,560,000
The stocks were always valued at 95% of cost. The stock saved from ﬁre was worth
T 30,000. -
M/s. ?JU::)ES- TS |ProKe0S® 15 D 803’5 2018 % &Ry @m‘éo 00gID0DIB. (808 IHTe H0d
XA ﬁgbo{ﬁo&
1.1.2017 763 58 , 62,0_00
1.1.2017 Ro0& 31.12.2017 38 S0R%sy) - 1,42,000
1.1.2017 200& 31.12.2017 $8% Bys e 1,80,000
31.12.2017 3 &% 27,000
1.1.2018 2008 14.9.18 38 SRoR%Y) 1,47,000
1.1.2018 Mooé 14.9.18 38% UB&)&S‘QD 1,650,000

DB G0N 95% S0 BE) A, FHAD) Devs 30,000.

_ Or
11.  From the following ascertain the loss incurred on fire accident,

; T
Opening stock 10,000
Purchases to the date of fire 40,000
Sales to the date of fire 75,000
Gross profit on sales 256%
Stock saved from fire < 2,000
(EoB 25070 Hr0é ©f}) (35780 5509 H02iDo0S R B8) o0&,
T
(@802 DEIE 10,000
(P55 BB e Hisky E00R'y 40,000
[9580¢s BB 43 55 @B5°e) 75,000
SBVLIRRS T 0 erdio 265%
| BBo%edH BEL 2,000
8 i

1-4-101
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Time : -3 hours
1. (a) Assesse.
es?ogata.
(bj Capital income.
Sarelss orwk.
(c) Allowances. |
| UIRN.
(d) = Perquisites.
JBeenen.
(e) Gross Annual Value.
dro RroHE)BE des.
(f) Unrealised rent

Paper 111 — DSC 3D : INCOME TAX
(Common for ASP & SM, Taxation and Tax Procedure w.e.f. from 2019-2020)

Answer any FIVE questions from the following. -

539 st FHot SErEERR0O80,

SATren 5°R0 ©Q.

Part II

SECTION - A

DS -

Each question carries 3 marks.

58 [SH0 3 Srden.

(Mérks : 5 x 3=15)

2-4-103

~ THREE YEAR B.Com. (General) DEGREE (CBCS) EXAMINATION —
: OCTOBERJNOVEMBER 2020

FOURTH SEMESTER

Max. Marks : 75
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" (g) Tax free gecurities.
3% 80 RrBeen.
(h) Casual income.

35.’;5&5 esgroieen.

(i) Deductions under section 80E.

VES 80 E 1808 avdifanoen.

() Total income.

T.h)g'go ucrofbo.

SECTION-B
eSS - O

Answer ONE question from each Unit.

Each quéstion carries 12 marks.

(50 Al 8000 B8 S SArGTRSY
(50 (53% 12 St e,

(Marks: 5 x 12 = 60)

UNIT-1 -

How can you determine residential status of an individual under inc.:ome' tax act 19617

ST 58y D30 1961 (8065 D& S8 AT (SASGD Jer DY ?
Or

Write a detailed note on Agricultural incoﬁie.

Sl ewraiio 80D dHoorr @rahod,

2 _ 9-4-103
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UNIT - 11

Write a note on profits in lieu of Salary,

BoeRd wdoeonr Bgoé ergroRd K80 Beyod.
Or

Mr. P is an employee of M/s XYZ Co. Ltd. He gets the followmg amounts during the
financial year 2017-18 :

Basic pay per month Rs. 12,000

DA (part of salﬁry) pm Rs. 5,000

Internal credited on balance in RPF @ 9.5% Rs. 15,000. -

Rent free house at Delhi (Rent paid by combany Rs. 5,000 pm)

Leave salary for one month

Mr. P contributed Rs. 2,200 pm to the recognised provided fund and an equal amount
was contributed by the company. Compute Mr. P’s income from salary for AY 2018-19.

M/s XYZ Co. Ltd. &° 58 DafodoR) Mr. P e ;‘355 B W0 DT 2017 18 egs KJOII

1808 Déore o).

05 Jarrentdhamn e, 12,000

58P0 (806" geg‘:goa) Aok 8. 5,000

zbg&:;.) 2085 (@B Ho&P BEES a0 3% 95% (35°0 &, 15,000
38&" e B2 DTH0 OB DTS Ko (Kod Do &, 5,0Ioo 3 39%308)
28 Do Do BBHIW.

Mr. P KsBoip) 27083 (2980t $obEd o 7. 2,200 DYanss. et AoaR) Eobd Kr
OB,

2018-19 $505%)0°08 etd 860 200 Lalry) 88) 0108,

-
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UNIT - I1I
6. How can you determine income from House property?
?b:)“g BIOIrR) Jer 88)3H?
’ : Or

7. ' Calculate income from House Property for the Assessment year 2018-.19 :

Fair rental value
Municipal value
Standard rent

—Actual rent

Rs.
3,00,000
3,10,000
3,60,000

-6,00,000

Rent ul{reaﬁzed for the previous year (17-18) 50,000

Municipal taxes paid

_ Expenditure on repairs |
Insurance premium
Ground rent

Interest on loan

40,000
10,000
5,000
1,000
20,000

The property remained vacant for a period of 3 months.

 2018-19 650065 So5K)Tm0S My estrao B, 0808 :

m»m:@ &g e
S00y96 Dess

[Doeels e

eiden &g

(17-18) K& S058)0°08 Sren 520 S
3900 H0RIS Shyes

:136&)&&5_3‘3 PEH

8.

~ 3,00,000

3,10,000
3,50,000
6,00,000

50,000
40,000

10,000
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HAr Paoho 5,000
Fro&d SR s . 1,000
ODpP DG © 20,000
Q0™ doed ae grde DYB.
UNIT -1V

Write the e:;emptions U/S 54 under the income from capital gains.

BT &TrairS® DES 54 $ods QvIFancHoy Beyod.

| Or
Calculate income from other sources :

Rent from letting a factory Rs. 90,000'

Income from sub-letting of office premises taken on Rent Rs. 20,000 .
Interest from bank Rs. 3,000 |
Interest on 'mcon{e tax refund Rs. 2,000

W;mn_ing from lottery Ra. 50,000

Winnings from Horse races Rs. 10,000.

| Ste mmaas BE0805Y.

o eipBaySotio> BaYS sTaio 8. 90,000

B Hisosg) e 8BR ©352) SotsoisBays emao &r. 20,000
ot 8508 5§ &7 3,000

BBR HoDH eToH P‘.‘Smcfg_ 5G &r. 1,200

emtoB eTraso0 857, 50,000

RS Soorep eTrabo 8. 10,000.
§ - 2-4-103
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UNIT -V

10. | Write deduction under section 80.

11,

VLS 80 |80t 208t anogo dey0d.

Or
From the following caleulate taxable income for the assessment year 2018-19 :
Rent received . 30,000
Income from business 4,98,000
Long term capital gain 14,000
Short term capital gain 45,000
Intérest_ on PPF alc 10,000
Medical insurance premium 10,000
P.M. relief fund donation 5,000
Deposit in LIC 10,000
Interest on bank depoalts 2,000

2018 19 389 a’)a‘dm .oo;’:é“)o“aé ABo eTrAieR) Béboiﬁod

&,
| Says & | ) 30,000
TS0 emrdho 4,98,000
83965 207045 esTraho 14,000
NSO Juress srdho - 45,000
PPF arerp ¢ 10,000
DAYS 28myds) Baano 10,000
5 0@ 885 3ot a0 5,000
LIC &° @265 2o 10,000.
o &aeSp 5 2,000
6
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